Wednesday 29th April 2020
Lesson 3 EXTENSION: reasoning & problem solving

1. [image: ]Kyle has 6 sweets. He gives half of them to Katie.





        Is Kyle correct? Explain why.

2. [image: ]Layla has 14 sweets. She gives half of them to Max. 






		
               Is Layla correct? Explain why.
3. [image: ]Use the digit cards to make 4 division calculations. 







4. [image: ]Sam is tidying up and she finds 24 socks.

How many pairs can she make?

She loses 8 socks. Can she still make pairs?
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1a. Kyle has é sweets. He gives half of 1b. Arooj has 14 sweets. She gives half of
them to Katie. them to Max.

0000606606
el 0000606606

We will get 3
sweets each.

We will get 8
sweets each.

Is Kyle correct? Explain why. Is Arooj correct? Explain why.
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2a. Use the correct digit cards to 2b. Use the correct digit cards to
complete the calculation below. complete the calculation below.
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calculations.

5a. Use the digit cards to make 4 di

ion

10

16

40

20

5b. Use the digit cards to make 4 division
calculations.

24

12
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6a. Dad is tidying up and he finds 16 6b. Sam is tidying up and she finds 24
socks. socks.
How many pairs can he make? How many pairs can she make?

LY

He finds 6 more socks. Can he still make She loses 8 socks. Can she still make
pairs? pairs?
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